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Business Mathematics
Paper ¢ BRA-112
[Masimum Marks : 90

Nate :— Attempt FIVE questions in all, inclading question,

1. (a)

(o)

(c)
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Tihta

no. 1. which is compuliory. All the questions cary
equal marks.

The sum of threo npmbees i AP it ¥ and suao of their
squarce is 29, Fiod the numbers,

The distence beMaween the poials (6, 5) and (), y) 13 § units
Find the valwe of W

Find the ratio in which the line joining the polats (1. 3) aad
{2, 71 iz divided by the line 3x + ¥ = §

The sum of thiree nombers 1n (X1 12 21 and their product is
216, Fnd the numbecs.

Find the value of thoe integral
wed
i X
. UL
: (I X + g0t x)
Evaluate :

! :dl.‘.

S+ 2K

Find the cquation of 4 st. line which passes threugh the
pint {3, §) and have intercepts on the axes suct that they
o is 14

Find the oquationy of lince which pase thrcugh 14, 5! and
makes an angle nf 45 wyh the line Zx + y + | =
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Find the ¢o-ardinales of the orthocente of the triangle whose
angular powits aze (1, 9), (%, -4y aud (-5, -2). :
tind the distance between the lines :

Ox + 40) - 20 = 0 20d 9x 4 40y + 103 = 0.
The first term of an AL, is 2 and the swn of the first five

terrms is cqual to one-fourth of the sum of the next five
enns, Find the sum of the first thirty terms.

Find the sum of the n terme of the series :
3+ 44 + 444 + M4 + ...

The sun of a (erns of two series in A P. are in the ralio

3% -k 4 1 $x + 6, Find the ratio of their 1i-th term.
Find 1be sum of squares of firal n natural numbers.

Evaluste :

2
R T Ny |
Prove that -
L

I 1og (sin X)X = =z lug2.
5 2

FRvaluale :

I X ci—dx.

a-+x)’

i*'rove that @

C -
L ) logli e tan x}u:% bog?2.

(f log2 = -3010 and logd = 4771, find log(-405Y' 7,

A sut of nu:L\c}' invested at compound interest amounts (0

Rs, 121599 at the end of § years and (o Rs, 1267:37 at the

cnd of 7 years. Find the principal end the rate of meerest.
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